Day 1 & 2 powers & roots (M.O'Keefe ).notebook

January 31, 2019

MATH LAB

Make Connections
Since 3* = 9, 3 is a square root of 9.
We write: 3 = /9

Since 3* = 27, 3 is the cube root of 27.
We write: 3 = 327

Since 3* = 81, 3 is a fourth root of 81.

We write: 3 = §81

How would you write 5 as a square root?
A cube root? A fourth root?

‘- Estimating Roots

LESSON FOCUS  Explore decimal representations of different roots of numbers.
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1) 12 -6 x 7- (5-3)* + 24 : 3
'

_ -~ 2P + 24=3
0= b - @ = N
\g_,w- 4y + I¢+3

12-42 =4 + a4 <3
= B-492-4y 4+ &
= —30-4Y + 8

vw
= =34«
= ~2

"L | Y

2) To attend the local fair the cost for admission is $5.25.

If you plan to go on rides it is an additional}$2.00 per ) ves

ticket. How many rides could you go on if you have $47.00?

Gt = Q¢+ +5.4s

s.325

U7 = 4¢ + 5.25 =%

H\as= 2t
9 2

20.%1° = ¢

CCU\ Oﬂ‘}) buj 20 +iduds.
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Review From Grade 9

1) (2+ (5+1) + (-2))+[2(-1+47)]

2) (6x14)

- +100 x 4+5°

3) A taxi driver charges a flat fee of $9.00
and $3.00 for ever kilometre travelled.

a) Write an equation that
represents the scenario.

b) If you travel 18 km how much would
you have to pay the taxi driver? (use your

equation from part a)

b) If you have $66.00 how far can you
travel in the taxi? (use your equation from part a)
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lel's try some examp|@s:

8)32;- 3.3 b)43:: L,oL,-Ll
=1 - 64

C)‘m:m d)v49 = 7
=9
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* Exponents are shorthand for multiplication:
(5) (5)=5%(5) (5) 5)=5".

The "exponent"” stands for however many times
[)Illﬂ“em the term is being multiplied.
\

3 °
5° (3times) SxS5Sx5=125
* The term that's being multiplied is called the "base".

BaSﬂ—»S 3
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